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Part one
Complete the "What Is My Big Five Personality Profile?" self-assessment. 
Write a 1,050-word paper in which you address the following: 
· Do you agree with the results of your assessment?
· Based on the results of your assessment, what do you see as your strengths and weaknesses?
· How might your personality type influence your job performance? 
Format your paper consistent with APA guidelines.
This is the results from the self-assessment 
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Part 2

Details:

Complete problems 6.12, S6.11, S6.20, S6.23, S6.27, and S6.35 in the textbook.
Submit one Excel file. Put each problem result on a separate sheet in your file. 
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S6. 35
One of New England Air’s top competitive pri-orities is on-time arrivals. Quality VP Clair Bond decided to person-ally monitor New England Air’s performance. Each week for the past 30 weeks, Bond checked a random sample of 100 flight arrivals for on-time performance. The table that follows contains the number of flights that did not meet New England Air’s definition of “on time”:
[image: ]
a) Using a 95% confidence level, plot the overall percentage of late flights (p) and the upper and lower control limits on a control chart.
b) Assume that the airline industry’s upper and lower control limits for flights that are not on time are .1000 and .0400, respectively. Draw them on your control chart.
c) Plot the percentage of late flights in each sample. Do all samples fall within New England Air’s control limits? When one falls out-side the control limits, what should be done?
d) What can Clair Bond report about the quality of service?
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2 2 100 the historical complaint rate is unknown.
3 8 100 ©) Is the process mean in control, according tol
4 15 100 Why or why not?
d) Assume now that the historical complaint rate has been four
5 10 100 calls a week. What would the 3-sigma control limits for this
6 2% 100 process be now? Is the process in control according to the con-
7 7 100 trol limits?
$6.23 The school board is trying to evaluate a new math
Construct a p-chart that plots the percentage of patients unsatisfied  program introduced to second-graders in five elementary schools
with their meals. Set the control limits to include 99.73% of the ran- across the county this year. A sample of the student scores on
dom variation in meal satisfaction. Comment on your results. P3¢ standardized math tests in each elementary school yielded the fol-

lowing data:

SCHOOL NO. OF TEST ERRORS

A 52
B 27
C 35
D )
E 55

Construct a c-chart for test errors, and set the control limits
to contain 99.73% of the random variation in test scores.
What does the chart tell you? Has the new math program been
effective? P
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a) Determine the value of p-bar, the mean fraction defective. Then

determine the control limits for the p-chart using a 99.73% confi-

dence level (3 standard deviations). Is this process in control? If

not, which samples were out of control?

b) How might you use the quality tools discussed in Chapter 6 to
determine the source of the billing defects and where you might
start your improvement efforts to climinate the causes? P2¢

©$6.26  The difference between the upper specification and the
lower specification for a process is 0.6”. The standard deviation is 0.1
What is the process capability ratio, C,,? Interpret this number. F¢

++$6.27 Meena Chavan Corp.’s computer chip production pro-
cess yields DRAM chips with an average life of 1,800 hours and
& = 100 hours. The tolerance upper and lower specification limits
are 2,400 hours and 1,600 hours, respectively. Is this process capable
of producing DRAM chips to specification? P2¢

++$6.28 Linda Boardman, Inc., an equipment manufacturer in
Boston, has submitted a sample cutoff valve to improve your manu-
facturing process. Your process engineering department has con-
ducted experiments and found that the valve has a mean (u) of 8.00
and a standard deviation () of .04. Your desired performance is
1= 8.0 +30, where o = .045. What is the Cpy. of the Boardman
valve? P2
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Austin plant, believes there is no problem because his H
had an average life of 50 hours, about 10% longer than
models. To raise the lifetime above this level would require a new
level of technology not available to West. Nevertheless, he is con-
cerned enough to set up hourly assembly line checks. Previously,
after ensuring that the process was running properly, West took size
n =5 samples of 9-volt batteries for each of 25 hours to establish the
standards for control chart limits. Those samples are shown in the fol-
lowing table:

West Battery Data—Battery Lifetimes (in hours)

I
TAKEN 1 2 3 4 5

1 51 50 49 50 50 50.0 2

2 45 47 70 46 36 488 34

50 35 48 39 47 438 15

4 55 70 50 30 51 51.2 40

5 49 38 64 36 47 46.8 28

6 59 62 40 54 64 55.8 24

7 36 33 49 48 56 444 23

8 50 67 53 43 40 50.6 27

(cont'd)
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44 52 46 47 44 46.6 30 weeks, Bond checked a random sample of 1(}
0 45 s0 47 m s06 29 on-time performance. The table that follows con|

flights that did not meet New England Air’s definftion 010
Q 1 57 54 62 5 36 508 26
2 56 5447 ) 6 52 20 SAMPLE SAMPLE
EK) EEK) FLIGHTS
13 40 70 58 45 4 514 30 (LED HED
1 2 16 2
14 52 58 40 52 46 496 18
2 4 17 3
15 57 ) 52 58 59 536 17
3 10 18 7
16 62 9 @ 3 55 482 29
4 4 19 3
17 10 9 49 59 8 40 20
5 1 20 2
18 64 50 4 57 50 526 2
6 1 pil 3
19 58 53 52 8 50 522 10
7 13 2 7
2 60 50 4 4 50 484 19
8 9 3 4
2 52 47 8 58 0 40 18
9 1 % 3
2 55 40 56 49 45 490 16
10 0 2 2
2 47 8 50 50 48 486 3
" 3 2% 2
% 50 50 49 51 51 502 2
” 4 27 0
2 51 50 51 51 6 530 12
3 2 23 1
With these limits established, West now takes 5 more hours of 14 2 29 3
data, which are shown in the following table: 15 8 30 N
a) Using a 95% confidence level, plot the overall percentage of late
HOUR 1 flights () and the upper and lower control limits on a control
”* = chart.
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1. Ttalk to many different people at parties

2.1 don’t mind being the center of attention.

3.1 sympathize with other people’s feelings

4.1 take time out for others.

5. Tam always prepared.

6.1 pay attention to details.

7.1 am relaxed most of the time.

8. Tam not easily bothered by things

9. Tenjoy hearing nerw ideas

10.T enjoy thinking about things

Source: L. R. Goldbere. J. A Johnson, H. W. Eber. R Hozan M. C_Adkion C_R Cloninzer & H_C Gouh “The Intemational Perscnalic: tem Pool axd the
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* 6.1 pay attention to details. o | o o o

* 7.1 am relaxed most of the time. ol o

*8.Tam not easily bothered by things. o | o o o

* 9.1 enjoy hearing nerw ideas. olo|lo|o

* 10.T enjoy thinking about things

Extraversion Score

Score - 8 pts
6-8pts Feedback: Moderate level of personality factor.

Agreeableness Score

Score - 10 pts.
9-10pts. Feedback: High level of personality factor.

Conscientiousness Score

Score : 10 pts.
9-10pts. Feedback: High level of personality factor.

Emotional Stability Score

Score : 10 pts.
9-10pts. Feedback: High level of personality factor.

‘Openness to Experience Score

Score : 10 pts.
9-10pts. Feedback: High level of personality factor.

Source: L. R. Goldberg, 1. A Johnson, H. W. Eber, R Hogan, M. C. Ashton, C. R. Cloninger, & H. C. Gough “The International Personality tem Pool and the

‘Future of Public-Domain Personality Measures,” Journal of Research in Personaliy 40 (2006), pp. $4-96.
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260 PART 2 DESIGNING OPERATIONS

©+$6.9  Organic Grains LLC uses statistical process control to
ensure that its health-conscious, low-fat, multigrain sandwich loaves
have the proper weight. Based on a previously stable and in-control
process, the control limits of the - and R-charts are UCL; = 6.56.
LCL; = 5.84, UCLy = 1.141, LCLg = 0. Over the past few
days, they have taken five random samples of four loaves each and
have found the following:

NET WEIGHT
LOAF #1 LOAF #2 LOAF #3 LOAF #4
1 63 60 59 59
2 60 60 63 59
3 63 48 56 52
4 62 60 62 59
5 65 66 65 69

Is the process still in control? Explain why or why not. P3¢

+++86.40 A process that is considered to be in control measures an
ingredient in ounces. Below are the last 10 samples (each of size n = 5)
taken. The population process standard deviation, o, is 1.36.

SAMPLES
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++$6.42 Eagletrons are all-clectric automobiles produced by
Mogul Motors, Inc. One of the concerns of Mogul Motors is that the
Eagletrons be capable of achicving appropriate maximum speeds.
To monitor this, Mogul exccutives take samples of cight Eagletrons
at a time. For each sample, they determine the average maximum
speed and the range of the maximum speeds within the sample.
They repeat this with 35 samples to obtain 35 sample means and
35 ranges. They find that the average sample mean is 88.50 miles
per hour, and the average range is 3.25 miles per hour. Using these
results, the exccutives decide to establish an R chart. They would
like this chart to be established so that when it shows that the range
of a sample is not within the control limits, there is only approx-
imately a 0.0027 probability that this is due to natural variation.
What will be the upper control limit (UCL) and the lower control
limit (LCL) in this chart? P>¢

++86.48 The defect rate for data entry of insurance claims has

historically been about 1.5%.

a) What are the upper and lower control chart limits if you wish to
use a sample size of 100 and 3-sigma limits?

b) What if the sample size used were 50, with 302

©) What if the sample size used were 100, with 207

d) What if the sample size used were 50, with 207

©) What happens to a; when the sample size is larger?
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+++86.41 Twelve samples, each containing five parts, were taken
from a process that producy rods. The length of each rod in
the samples was determined. The results were tabulated and sample
means and ranges were computed. The results wer

SAMPLE SAMPLE MEAN

1 10.002 0011
2 10.002 0.014
3 9.991 0.007
4 10.006 0.022
5 9.997 0.013
6 9.999 0.012
7 10.001 0.008
8 10.005 0.013
9 9.995 0.004
10 10.001 0.011
1 10.001 0.014
12 10.006 0.009

a) Determine the upper and lower control limits and the overall
means for X-charts and R-charts.

b) Draw the charts and plot the values of the sample means and
ranges.

©) Do the data indicate a process that is in control?

d) Why or why not? Pa¢
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++86.45  The results of an inspection of DNA samples taken over
the past 10 days are given below. Sample size is 100.

DAY 12 3 4 5 6 7 8 9 10

a=8 7 6 6 9 5 6 0 8 9 1

a) Construct a 3-sigma p-chart using this information.
b) Using the control chart in part (a), and finding that the number of
defectives on the next three days are 12, 5, and 13, is the process

in control? P2¢

©$6.46 I the past, the defective rate for your product has been
1.5%. What arc the upper and lower control chart limits if you wish to
use a sample size of 500 and z = 37 P

+86.17 Refer to Problem S6.16. If the defective rate was 3.5%
instead of 1.5%, what would be the control limits (z = 3)? P2¢C

++$6.48 Five data entry operators work at the data proc:

ing

department of the Birmingham Bank. Each day for 30 days, the number
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of defective records in a sample of 250 records typed by these operators
has been noted, as follows:

SAMPLE NO. SAMPLE NO. SAMPLE NO.
NO. | DEFECTIVE  NO. | DEFECTVE  NO. | DEFECTIVE

2 5 12 5 2 12

3 19 13 16 23 6

4 10 14 4 2 7

5 n 15 1 25 13

6 8 16 8 2% 10

7 12 17 12 27 14

8 9 18 4 28 6

9 6 19 6 29 12

10 13 20 16 30 3

a) Establish 30 upper and lower control limits.

b) Why can the lower control limit not be a negative number?

©) The industry standards for the upper and lower control lim-
its are 0.10 and 0.01, respectively. What does this imply about
Birmingham Bank’s own standards'

5 operations. X | & Online Colleges

SUPPLEMENT 6

Week2 - Individ 5 Assignment Res | + v

305 0f892

STATISTICAL PROCESS CONTRO -

++$6.20 Jamison Kovach Supply Company manufactures paper
i ¢ products. Although inexpensive, paper cli
have provided the firm with a high margin of profitability. Sample

size is 200. Results are given for the last 10 samples:

Bl > 3 4+ 5 6 1 8 9 10

D= 5 7 4 4 6 3 5 6 2 8

a) Establish upper and lower control limits for the control chart and
graph the data.

b) Is the process in control?

©) If the sampl were 100 ins
conclusions change? P3¢

ad, how would your limits and

+$6.24  Peter Ittig’s department store, lttig Brothers, is
Amherst’s largest independent clothier. The store receives an average
of six returns per day. Using z = 3, would nine returns in a day war-
rant action? P¢

++$6.22  An ad agency tracks the complaints, by week received,
about the billboards in its city:

WEEK NO. OF COMPLAINTS
1 4





